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END-OF-YEAR EXAMINATION 2012

MATHEMATICS
PRIMARY TWO
Name: . { } Class: Primary 2 .

Date: 31 October 2012 Duration of paper: 1 h 30 min

Parent'sIGuardian’s signature

INSTRUCTIONS TO CANDIDATES

1. This question paper consists of 22 printed pages.
2. Do not turn this page until you are told to do so.
3. Follow all instructions carefully.

4. Answer all questions.

Section  Manimum Marks Marks Obtained

A. Muitiple-Choice Questions - ' 36

B. Shorf Answers 34

C. Part 2 {Probiem Sums} 30 .
Total Marks 100

15






Section A (18 Questions x 2 marks}

For each question, four options are given. One of them i is the correct
answer. Choose the corréct answer and write 1, 2, 3 or 4 in the given
brackets. All diagrams are not drawn to scale unless otherwise

stated.
1. Which one of the fol{ewmg nurnbers has the digit ‘8’ in its hundreds
place?
(1) 8
(2) - 28
(3y 184
(4) 836 ( )
2. 200+ 7 {+8=218.

What is the missing number in the box?

&)
(2)
(3)
4

3. ?

1 ones

10 tens

10 ones

1 hundreds ( )|

x5=45

What is the missing number in the box?

(1)
(2)
(3)
{4)

7
8
9

(&3



4. Strees were planted equally apart. The distance between the first
tree and the second tree was 4 m. What was the distance between
the first tree and the last tree? -

4m
() 8 m
2y 12m
(3) 16 m
4 20m {

5. Which one of the following is the shortest in length? -

(1) 7Tm

2) 9m

(3) 7 cm

4) 9cm (

6. Armange these numbers in order
Begin with the smallest number.

960 , 609 ., 906 . 690

(1} 690, 609, 960, 905

(2) 609, 690, 906, 960

(3) 906, 960, 690, 960

{4) 960. 905, 690, 609 (




7. Which clock face shows 30 minutes past 3 o’clock?

(1)
@)
3)
)
¢
e



8. What fraction of the figure is not shaded?

(1)

@)

(3)

(4)

e N 7 B S Y
]

8. A pizzaiscutinto 9 equal pieces. Andy and Ben ate 2 slices
of pizza each. What fraction of the pizza is left?

(1)
@

(3)

Wld Ol N o,

(4}




10. There is an equal number of cupcakes in each box. If 2 boxes

11.

12.

contain 8 cupcakes, how many cupcakes are there in 6 boxes?

1y 12
2 16
3 24
) 48 ' ( )

in a basket, there were 750 durians. Mr Lee sold 95 of them. How
many durians were left?

(1) 645

(2) 855

(3) 745 |

(4) 845 ' ( )

The picture helow is not drawn to scale.
The toothpaste is cm longer than the toothbrush.

L

- .
-

A
'iié) - toothpaste
.
3 : ' !
*H”HH ; : ' toothbrush
; e - :
1 : 1 :
L1 l L N P

o 1 T2 3 4 5 §' 7- 8 g 10 11T 12 13 14 15
cm

NONRE

2) 9
3) 3
4y 5 ( )

1¥]



13. Study the paitern below.

ADVUA 2 A 1y

What is the missing object in the pattemn?

(1) - v

(2) q:}

(3) A

o [ (

14. The table below shows the mass of 4 children.

Name of child Mass
Angie 27 kg
Beity 34 kg

Catherine 29 kg
Danieile 35 kg |

What is the difference in mass between the heaviest child and the
lightest child?

(1) Skg
(2) ©6kg
(3) Tkg

(4)  8kg (

~




15. At first, Containers A, B and C contained some water as shown

below.

197 — 51 51—

i 55

Container A Containér B Container C
What would be the amount of water in Container A if 2il the water
from Container B and Container C were poured into Container A

without any spilling over? .

{1) 61

2 71

(3) 81

(4) 91 ( )

16. Which object is the heaviest?

(1) A
2y B
3y C
(4 D { )



17. Study the number pattern below carefully.

20, 21, 23, 26, 30, 35, , 48,56 ...

What is the 7® number?

(1) 37
(2} 39
3 4 |
@ 45 (

18. Ken has 4 strings. String A is shorter than String B while String D is
longer than String A. String C is sherter than String B but longer than
String D. Which is'the longest siring?

(1) StingA
(2) StringB
(3) sStingcC

(4)  String D (

18]




Section B (17 Questions x 2 marks}

Questions 19 to 35 carry 2 marks each. Write your answers in the
spaces provided. Give your answers in the units stated. Al diagrams
are not drawn to scale unless otherwise stated.

Study the graph carefully and answer guestions 19, 20 and 21.

The graph-below shows the number of sweets each child has.

._..-.--

%

Bill : Anna . Tgﬁy

Each 288 stands for 3 sweets.

19. How many sweets does Anna have?

Answer :- ___sweetls

20. How many more sweets does Jane have than Bill?

Answer : . Sweets

21. If each sweet costs $2, how much money did Tony spefid?

Answer : $

10 (¢t



22. The two facing page numbers of a book add up to 87. What are the
two page numbers?

Answer : Page . and Page

23. Look carefully at the figure below.

How many straight lines does the figure have?

Answer : straight line(s)

24. A workshop lasts for 30 minutes. If i starts at 9.30 a.m., what time will
it end?

Answer - a.m.




25. Arrange the fractions in order.
Begin with the greatest.

K
f ° ©§ ' 8

" Answer : B }
- greatest

26. Find the difference between the largest 3-digit number and the
smiallest 3-digit number. :

Answer :

27. Study the diagram below. The fotal of each side is equal. Find the

values of A and B.

Answer: A= andB =

28. Mother bought 36 biue buttons and red buttons aliogether. She
bought three times as many red butions as biue buttons. How many
biue buttons did she buy?

Answer : blue buttons

12 13




29. Who has the most amount of money?

Answer :

Rt e

30. A stall vendor sells sticks of fishbails. There are 3 fishballs oh each
stick. If he sells 24 fishballs, how many sticks of fishballs are sold?

A stick of fishbails

Answer : sticks

3




31. How many rectangular flat faces does the following object have?

Answer : rectangular flat faces

32. Study the diagram below.

370 g

180g

What is the mass of the top?
Answer : g

33. Shade —3 of the rectangie below.

14 el



34. Which shape corhies next?

NOONOLINODIN 2

Answer-:

35. Four children were at a birthday parly. Each child shook hands only

once with each of the othér three. How many times did they shake
hands?

Answer -

15




Section G (30 marks)

For questions 36 to 44, show your working and statements clearly in
the space provided for each question. The number of marks available
is shown in brackets [ ] at the end of each question or part-
question.

36. There were 815 people in a movie theatre. 326 of them were children
and the rest were adu!ts. : '

(a) How many adults were at the movie theatre? [ 1 mark ]
(b) How many fewer children than adults were at the movie theatre?

[ 2 marks]
(a) Working
There were adulis.
(b)
There were __fewer chiidren than adulis.

16

(<7



37. Mary and Raj had 245 beads each. Mary had 80 fewer beads than
Jill. How many beads.did the three children have altogether?
[ 3 marks ]

Wb‘rking

They had ___._beads altogether. -

38. Joeanna-beught 5 boxes of muffins. There were 8 muffins in each box.
She repacked the muffins equally into 4 bokes. How many muffins
were there in-each box? { 3 marks |

Working

There were _muffins in each box.

17




39. Mother baked a cake. Father ate 2 of the cake. My brother and i ate 3

_ 12
slices each. What fraction of the cake was left? | 3 marks |

Working

of the cake was left.

40. Eddie had five 50-cent coins and five 10-cent coins. Peter had
tén 20-cent coins.
(a) How much money did Eddie have? [ 1 mark]
(b) How much more money did Eddie have than Peter? [ 2 marks |

(a) Working

Eddie had $

(b)

Eddie had $ _ more than Peter.

16§

18



41.

Betly went shopping with 6 five-dollar notes. After buyirig some
groceries, she had $13 left. How much did she spend onthe
groceries? [ 3 marks }

Working

Shespent$d . on groceries.

19

b




42. There were 980 bottles in a factory. 290 of them were red. There were
280 more biue bottles than red bottles. The rest of the botiles were

purple. :
(a) How many blue botiles were there? [ 2 marks |

{b) How many purple botiles were there? [ 2 marks i

(a)
Working

There were - blue botHles.

(b)

There were —__purple baotiles.

20 (11



43. 2 cups of water are needed tofilt up a jug. 3 jugs of water are needed
to fill up a pail. Each cup can hold 50 mf of water. What is the
volume of water in 2 pails? { 4 marks |

Working

The volume of water in 2 pails is mf .




44. Lily used some matchsticks to build the following figures.

Figure
1

a) Complete the table below. [ 1 mark ]

Figure 1 2 3 4 5
Number of '
mafchsticks 3 6 9

b) If Lily used 27 matchsticks, which figure did she build?
[3marks]
{Hint: Make a table)

End-of-Paper
22 173






EXAM PAPER 2012
SCHOOL : ANGLO-CHINESE SCHOOL(PRIMARY)
SUBJECT : PRIMARY 2 - MATHEMATICS

TERM : SA2

SECTION A

Q1L]Q21Q3|Q4

Q8 1 Q9 |Ql0

Q12

OTE}

Qid

Q15

Q16

4131313

Qi1
2

Qiz 1 Q18

3 2

SECTION B
19.18

20.9

21.18

22.43 and 44
23.8

24. 10.00
25.1/4,1/6,1/9
26. 899
27.5and 6
28.9

29. Earnest
30.8

31.6

32. 240

33. | \\\\\\\

Pagelof 3

V9 &



34.0
35.6

SECTION C

36. a) 815 — 326 = 489
There were 489 adults.

b) 489 — 326 = 163
There were 163 fewer children than aduits.

37.245 + 80 =325
325 + 245 = 570
570 + 245 = 815
They had 815 beads ailtogether.

38.5x8 =40
40 - 4 =10
There were 10 muffins in each box.

39.12-2=10
10—-6=4
4712 of the cake was left.

40. a} 5 x $0.50 = $2.50
5x $0.10 = $0.50
$2.50 + $0.50 = $3.00
Eddie had $3.00.

b) 10 x $0.20 = $2.00
$3.00 - $2.00 = $1.00 ‘
Eddie had $1.00 more than Peter.

41.6x5 =30
30—-13 =17
She spent $17 on groceries.

42.a) 290 + 280 = 570
There were 570 biue hottles.

b) 570 + 290 = 860
There were 860 purple bottles.

Page 2 of 3




43,2 x50ml = 100ml
100ml x 3 = 300ml
300mli x 2 = 600m!
The volume of water in 2 pails is 600ml.

44.3a)[12]

b)27+3=9
The figure is 9.

Page 3 of 3






~ AiTong School ’
Primary Two Mathematics .
Term 3 (2012) 20
Length, Mass, Money.
Name: SERE ( ) | Date: _
Class: Pr.2{ ) Parent's Signature:
1. Count.and wiite the total amount of money in the boxes provided.
{1 mark each}
o, ..
b' -
35



]

2. Write the corect answer in each box. {1 mark each)

a. 28 dollars Gnd' 70 cefnfs =

b. $4.55 is the same as , ’

¢. Sixiy-three dollars and five cents is the same: ds

3. Look at the piciure below and answer questions 3a-3d. {1 mark each)

-

d. Thekeyisabout cm long.
b. The scissors is about cm long.

c. The is the shortest.

d. The scissors is longer than the pencil by cim.




Fill in the blanks with the correct answer,

4.

The mass.of the appless .. (1 mark)

hamburger

a. The mass of the hamburger is g. {1 mark)

b. The hotdog sandwich is g lighter than the hamburger. {1 mark)

3%



a. The total mass of an apple and orangeis -

b. The mass of the orange is 9. {2 horks)

susan spent exactly-$30 on two different 1oys.

She bought the toy and toy

- g. "(1 mairk)

. {2 marks)




239 m

XG5 John's Ho
Playground
- qa. The shortest distance from John's house to the cinema is  m.

{1 mark)

b. Johnleft the cinema and walked directly to the playground. After that,
he conlinued walking home. How fadr did he walk?

He walked . m. {2 marks})

Have you checked your work? @






_ AiTong Schopl
Primary Two Mathematics
Term 3-{2012)

20

Money, Time, Fraclions.

Name: _ A7) . Dated -

Class: Pr. 2 ( ) Parent’s Signature: |

1. Count and wiite the total amount of money in the boxes. p;dviéie.d..

(1 mark each}

S LW ]

a
Sxawdl

“l‘.

By




2. Wiite the correct answer in each box. (1 mark each)

- Whiat fraction of the figure is shaded?

‘What fraction.of the figure is hotshaded? -

b.

11
122" 5.8

{grealest)




7

4. shade the figures according to the given fractions. (1 mark each)

4
5

;3
4

Fillinthe blanks with-the comrect answer. (1 mark each)

L 2,1

/ 7
A _
. 19 = 1

2 _ A
7. 10 T 10
8.
The fimeis . p.m.

13



10.

11.

2.

The fimeis ‘am.

11.30 a.m. is 30 miin dffer a.m.

9.00 p.m. is 1 h before p.m.

Alice completed her-homework inhalf an hour. She completed her

-~ woik at 9 p.m. Draw the hour and minute hands on the clock

below to show the fime she started doing her homework. (1 mdrk)




Solve the following word problems. The marks are indicated in each
question. Show your working clearly.

13. Amy had $100. After she bought a ioy car and a tby motorcycle. -
she had $18 left. How much did the third toy cosi? (3 marks)

The third foy cost $

3
14. Grace bought a pizza and cut it into 10 equal pieces. She ate 10

of the pizza and her family members ate the rest. What fraction of

the pizza did her family eat? (2 marks)

Her family ate of the piza.
~~~ £nd of Paper ~~~
Have you checked your work? ©






Answer

EXAM PAPER 2012

SCHOOL : AI TONG SCHOOL

SUB3JECT : PRIMARY 2 - MATHEMATICS

TERM @ TERM3

Length, Mass, Money

1a. $5.20
1b. $15.45
2a.$28.70
2b. 455 cents
2c. $63.05
3a. 3cm
" 3b. 7cm
3c¢. key
3d. 3cm
4. 5509
5a. 2209
5b. 140¢g
6a. 360g
©6b. 1709
7. horse and duck
8a. 304m
8b. 304dm+157m=461m
He walked 461m.

Money, Time, Fractions -

1a.$104.20
1b. $255.25
2a.5/8
2b.5/8 )
3.1, 1/5,1/8,1/12

Page 1 of 2
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Answer Key


5.3/7
6.8/12
7.5/10

8. 3.25pm
9. 5.40am
10. 11am

13.100-18=82
27+20=47
82-47=35 _
- The third toy costs $35.
14.1-3/10=7/10 e
Her family ate 7/10 of the pizza.

Page 2 of 2
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